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December-2013 

B.A. (Sem.-I)  

102 : Statistics (Elective)  

(Applied Statistics) 
 
Time :  3 Hours]  [Max. Marks : 70 
 
ÍÛæ̃ Û¶ÛÛ :   (1) ÍÛÛþä×ù ïéõÅÛîýÛäÅÛé¤øÁõ ÈÛÛ¸ÛÁõà ÉÛïõÛÉÛé. 
Instructions :  Simple calculator can be used. 
    (2) ¼ÛµÛÛ ›÷ ¸ÛóÊ¶Û¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé. 
     All questions carry  equal marks. 
 

1. ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : ÈÛÍ©Ûà•Û¨Û©ÛÁõà 14 

 Write a note on Population Census. 

   …¬ÛÈÛÛ/OR 

 (a) ÈÛÍ©Ûà•Û¨Û©ÛÁõà¶Ûä× ¾ÛÐü«ÈÛ …¶Ûé Š¸ÛýÛÛéÜ•Û©ÛÛ ÅÛ”ÛÛé.  7 

  Write the use and importance of Population Census. 

 (b) ÈÛÍ©Ûà•Û¨Û©ÛÁõà¾ÛÛ× …ÛÈÛ©ÛÛ þùÛéÌÛÛé 7 

  Demerits of Population Census. 

 

2. (a) ÍÛ¾Û›ÛÈÛÛé : ¸Ûó¾ÛÛÜ¨Û©Û ¾Ûè©ýÛäþùÁõ, ïäõÅÛ ¸Ûó›÷¶Û¶Û þùÁõ, ÍÛÛ¾ÛÛ¶ýÛ ¸Ûó›÷¶Û¶Û þùÁõ. 6 

  Explain Standard Death Rate, Total Fertility Rate, General Fertility Rate. 

 (b) ¶Ûà˜Ûé¶ÛÛ× ¼Ûé ÉÛÐéüÁõÛé ¾ÛÛ¤éø ÍÛÛ¾ÛÛ¶ýÛ ¾Ûè©ýÛäþùÁõ ÉÛÛéµÛÛé. …¶Ûé A ÉÛÐéüÁõ¶Ûé ¸Ûó¾ÛÛÜ¨Û©Û •Û¨Ûà …ÛÁõÛé•ýÛ¶Ûà 
ÍÛÁõ”ÛÛ¾Û¨Ûà ïõÁõÛé : 8 

   

A ÉÛÐéüÁõ B ÉÛÐéüÁõ ‹¾ÛÁõ          
(ÈÛÌÛÙ¾ÛÛ×) ÈÛÍ©Ûà ¾Ûè©ýÛä ÈÛÍ©Ûà ¾Ûè©ýÛä 

0 – 10 400 20 1200 48 

10 – 20 1000 5 2000 9 

20 – 40 3000 24 6000 60 

40 ¬Ûà ÈÛµÛä 600 18 800 24 
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  Find crude death rate for the following two cities Assume city A as standard for 
comparing health : 

City A City B Age          
(In years) Population Death Population Death 

0 – 10 400 20 1200 48 

10 – 20 1000 5 2000 9 

20 – 40 3000 24 6000 60 

More than 40 600 18 800 24 

…¬ÛÈÛÛ/OR 

 (a) ÍÛ¾Û›ÛÈÛÛé : ›÷¶¾ÛþùÁõ, ¾Ûè©ýÛäþùÁõ, ÅÛ•¶ÛþùÁõ 6 

  Explain – Birth Rate, Death Rate, Marriage Rate. 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÍÛÛ¾ÛÛ¶ýÛ ¸Ûó›÷¶Û¶Û þùÁõ …¶Ûé ïäõÅÛ ¸Ûó›÷¶Û¶Û þùÁõ ÉÛÛéµÛÛé : 8 
   

‹¾ÛÁõ (ÈÛÌÛÙ¾ÛÛ×) 
Ü¶ÛýÛ©Û •ÛÛÇÛ ¾ÛÛ¤éø¶ÛÛé 

¸Ûó›Ûé©¸ÛÜ«Û þùÁõ 

(þùÁõ Ðü›ÛÁéõ) 

ÍªÛà…Ûé¶Ûà ÍÛ×”ýÛÛ 
(Ðü›ÛÁõ¾ÛÛ×) 

15 – 19 61 10 

20 – 24 322 21 

25 – 29 285 25 

30 – 34 260 18 

35 – 39 125 11 

40 – 44 60 15 

 

  Find General Fertility Rate and Total Fertility Rate for the following data : 

Age (In years) 
Specific fertility 

rate (per thousand) 
No. of women 

(in 1000) 

15 – 19 61 10 

20 – 24 322 21 

25 – 29 285 25 

30 – 34 260 18 

35 – 39 125 11 

40 – 44 60 15 
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3. (a) ÈÛÅÛ¨Û …é¤øÅÛé ÉÛä× ? ÈÛÅÛ¨Û ¾ÛÛ¸ÛÈÛÛ¶Ûà ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé. 7 

  What is Trend ? Explain method of moving average for measurement of trend. 

 

 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛà ÍÛÛ¾ÛÛÜýÛïõ ËÛé¨Ûà ¾ÛÛ¤éø ÜªÛ-ÈÛÛÜÌÛÙïõ ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ ÈÛÅÛ¨Û ÉÛÛéµÛÛé. ÈÛÅÛ¨Û¶Ûé …ÛÅÛé”Û¸ÛªÛ 

¸ÛÁõ þùÉÛÛÙÈÛÛé.  7 
   

  Find average trend by using 3 years method of moving average for the following 

time series. Draw trend on graph paper. 

Year 

ÈÛÌÛÙ 

Index No. 

ÍÛæ˜Ûïõ…Û×ïõ 

2000 230 

2001 214 

2002 222 

2003 248 

2004 238 

2005 228 

2006 272 

2007 256 

2008 264 

2009 284 

2010 268 

2011 288 

2012 296 

2013 280 

    …¬ÛÈÛÛ/OR 

 (a) ÍÛÛ¾ÛÛÜýÛïõ ËÛé¨Ûà¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. ©Ûé¶ÛÛ ÜÈÛÜÈÛµÛ –Û¤øïõÛé¶Ûä× ÈÛ¨ÛÙ¶Û ïõÁõÛé. 7 

  Give definition of Time Series. Describe its different elements. 
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 (b) ¶Ûà˜Ûé¶Ûà ÍÛÛ¾ÛÛÜýÛïõ ËÛé¨Ûà ¾ÛÛ¤éø ¾ÛÛéÍÛ¾Ûà ÍÛæ˜Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 7 

  Find seasonal Index Number for the following Time series : 

Year/ÈÛÌÛÙ Q1 Q2 Q3 Q4 

1996 3 – 9 4 – 6 3 – 5 3 – 8 

1997 3 – 8 3 – 9 3 – 7 3 – 7 

1998 5 – 0 5 – 1 5 – 3 3 – 4 

1999 3 – 3 4 – 4 4– 0 4– 0 

 

4. (a) ÍÛæ˜Ûïõ…Û×ïõ …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ× ÅÛ“Û¨ÛÛé …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé. 6 

  What is Index Number ? Describe its Limitations and Assumptions. 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø ÜºõÉÛÁõ¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 8 

   

…ÛµÛÛÁõ ÈÛÌÛÙ ˜ÛÛÅÛä ÈÛÌÛÙ 
ÈÛÍ©Ûä…Ûé 

Ýïõ¾Û©Û ›÷¬¬ÛÛé Ýïõ¾Û©Û ›÷¬¬ÛÛé 

A 7 12 9 17 

B 15 22 10 22 

C 17 17 22 22 

D 18 22 18 32 

E 14 32 17 42 

F 10 20 15 27 
   

  Find Fisher Index Number for the following data : 

Base Year Current year 
Items 

Price Quantity Price Quantity 

A 7 12 9 17 

B 15 22 10 22 

C 17 17 22 22 

D 18 22 18 32 

E 14 32 17 42 

F 10 20 15 27 

…¬ÛÈÛÛ/OR 
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 (a) ÍÛæ˜Ûïõ…Û×ïõ¶Ûà Áõ˜Û¶ÛÛ ¾ÛÛ¤éø ÜÍ¬ÛÁõ …ÛµÛÛÁõ¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé. 6  

  Explain fixed base method for the construction of Index Number. 

 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÜÍ¬ÛÁõ …ÛµÛÛÁõ¶Ûà Áõà©Ûé …¶Ûé ¸ÛÁ×õ¸ÛÜÁõ©Û …ÛµÛÛÁõ¶Ûà Áõà©Ûé ÍÛæ˜Ûïõ…Û×ïõ 
ÉÛÛéµÛÛé :  8 

  Find the fixed base index numbers and chain base index numbers for the following 
data : 

2002 2003 2004 2005 Items/ 

ÈÛÍ©Ûä (`) (`) (`) (`) 

A 20 40 30 60 

B 10 15 60 80 

C 40 100 120 160 

D 100 125 250 300 

 

5. ¶Ûà˜Ûé¶Ûà ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé. 14 

 Fill in the following blanks : 

 (1) ___________ ¶Ûé þéùÉÛ¶ÛÛ …¬ÛÙ©Û×ªÛ¶Ûà ¸ÛÛÁõÛÉÛàÉÛà ïõÐéüÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 

  (a) ÍÛæ˜Ûïõ…Û×ïõ (b) ÍÛÛ¾ÛÛÜýÛïõ ËÛé¨Ûà (c) ÜÈÛµÛéýÛ 

  __________ is called barometer of Economics of India. 

  (a) Index No. (b) Time Series (c) Function 

 (2)  …ÛµÛÛÁ õÈÛÌÛÙ¶ÛÛé …Û×ïõ __________ ™öé. 

  Number of based year is __________. 

  (a) 100 (b) 50 (c) 1000 

 (3)  P1 = 30, P0 = 40, ©ÛÛé I = __________ 

  P1 = 30, P0 = 40, I = __________ 

  (a) 80 (b) 75 (c) 70 

 (4)  ÜºõÉÛÁõ¶Ûä× ÍÛæªÛ _________ 

  Formula of Fisher __________. 

  (a) L  P  100 (b) (L  P)  100 (c) L + P 
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 (5)  ÈÛÅÛ¨Û ¶Û‘õà ïõÁõÈÛÛ¶Ûà Áõà©ÛÛé __________ ™öé. 

  Methods of determining of trends are __________. 

  (a) 3 (b) 2 (c) 4 

 (6)  ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ¶Ûà •Û¨Û©ÛÁõà _________ ¶ÛÛ ÜÍÛ±ùÛ×©Û ¸ÛÁõ …ÛµÛÛÜÁõ©Û ™öé. 

  (a) ¾ÛµýÛïõ (b) ¾ÛµýÛÍ¬Û (c) ¼ÛÐäüÅÛïõ 

  The principle of calculating the method of moving average is based on ________. 

  (a) Mean (b) Median (c) Mode 

 (7)  Ü¶ÛýÛÜ¾Û©Û ÈÛµÛ–Û¤ø _________ ¸ÛóïõÛÁõ¶Ûà ÐüÛéýÛ ™öé. 

  __________ type of regular fluctuation. 

  (a) 2 (b) 3 (c) 4  

 (8)  Ü³ù–ÛÛ©Ûà ¸ÛÁõÈÛÅÛýÛ¶Ûä× ÍÛ¾ÛàïõÁõ¨Û __________. 

  Second degree parabolic equation __________. 

  (a) y = a + bx (b) y = a + bx2 (c) y = a + bx + cx2 

 (9)  SFR = 100, i = 5, ©ÛÛé TFR = __________ 

  SFR = 100, i = 5, TFR = __________ 

  (a) 500 (b) 20 (c) 50 

 (10)  ›÷¶¾ÛéÅÛÛ× ïäõÅÛ ¼ÛÛÇïõÛé¶Ûà ÍÛ×”ýÛÛ = 42.30 …¶Ûé ÍªÛà…Ûé¶Ûà ïäõÅÛ ÍÛ×”ýÛÛ = 600 ©ÛÛé ÍÛÛþùÛé ¸Ûó›÷¶Û¶Û 
þùÁõ (GFR) = _________. 

  (a) 70.5 þùÁõ Ðü›ÛÁéõ  

  (b) 70 þùÁõ Ðü›ÛÁéõ  

  (c) 60.5 þùÁõ Ðü›ÛÁéõ 

  Total number of born children = 42.30 and total no. of women = 600, then General 

Fertility rate = __________. 

  (a) 70.5 per thousand 

  (b) 70 per thousand 

  (c) 60.5 per thousand 
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 (11)  ›÷é ÉÛÐéüÁõ¶ÛÛé ¸Ûó¾ÛÛÜ¨Û©Û ¾Ûè©ýÛäþùÁõ __________ …ÛÈÛé ©ÛÛé ©Ûé ÉÛÐéüÁõ …ÛÁõÛé•ýÛ¶Ûà ´ùÜÌ¤ø…é Š«Û¾Û 
•Û¨ÛÛýÛ. 

  (a) …Ûé™öÛé (b) ÈÛµÛÛÁéõ (c) ¼ÛÁõÛ¼ÛÁõ 

  The city for which SDR is __________ is called healthy. 

  (a) less (b) more (c) equal 

 (12)  ÈÛÍ©Ûà •Û¨Û©ÛÁõà þùÁõ ________ ÈÛÌÛë ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 

  The population census is conducted after every __________ years. 

  (a) 10 (b) 15 (c) 5 

 (13)  ÈÛÍ©Ûà¶ÛÛ …Û×ïõ¦øÛ ¾ÛéÇÈÛÈÛÛ¶Ûà _________ Áõà©ÛÛé ™öé. 

  The number of methods of collecting vital statistics are __________. 

  (a) 3 (b) 2 (c) 4 

 (14)  Ü¶ÛþùÉÛÙ ÍÛÈÛë¶Ûà ¸Û±ùÜ©Û __________ ¶ÛÛ ÜÍÛ±ùÛ×©Û ¸ÛÁõ …ÛµÛÛÁõ ÁõÛ”Ûé ™öé. 

  (a) …Û×ïõ¦øÛÉÛÛÍªÛ (b) …¬ÛÙÉÛÛÍªÛ (c) ÍÛæ˜Ûïõ…Û×ïõ 

  The principle of sample survey depends upon __________. 

  (a) Statistics (b) Economics (c) Index Number  
 

____________ 
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